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Now repeat the process above to determine the maximum volume, and the dimensions that would give that
volume, if the paper is 20” by 30”.
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I'would like to build a little rectangular pen for Sognefjord in my backyard, adjacent to the house, so she has
a place to play with the local birds and eat grass. I have a total of 20 feet of fencing which will make up 3

sides of the pen; the last side will be the outside of the house. I'd like to figure out how to p)lt up the fencing
S0 as to maximize the area of the enclosure. \ )

a. Let x be the width of the pen. Explain why the length can T i —\\Q" f
X be expressed as 20-2x. // \
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b. Hence, write down a formula for the area of the pen: \\
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¢. Write down the “real life” domain of this problem. 7/ = - - \
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d. Sketch a graph using an appropriate viewing window.

Write down your window here: o %
Conodx (0,60)

e. Hence find the maximum area of the pen, as well as the dimer}‘s\ions that result in that area.
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f.  {You could have found the maximum of this one algebralcally instead! How?)
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Now repeat the process above to determine the maximum area, and the dimensions that would give that
area, if I have 50 feet of fencing.

Formula for area: Grap N )

B (x)= (-7 )

“Real life” domain: 'bsb : e - L ./ _
Co,99) TS T

Viewing window:
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Maximum volume: . /
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Dimensions that give the maximum area:
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Challenge: We can use a similar process to minimize something. For example, let's say I want the 3-sided
pen for Sognefjord to have an area of 100 square feet. What is the minimum amount of fencing that I need to

accomplish this? 3 -
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